3.40 Adding and Subtracting Polynomials.notebook March 23, 2018

Solutions

1. Simplify.
a) (3.1:3—7:4"— 5) + (xz—x—ﬁ)

= P —Fx A4S+ —x 43
= 4x* -8x + 8

b) (x® — 6x+ 1) — (—x* — 6x + 5)

= 2l 4| AxT+bx =S
= 2x"-

O (2% dx+3) — (3 -3x+2) (1)

P
= - Y a3 -xT#Ix -2 X

Z
= Z2x -Xx
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4. Simplify.
a) (2a+ 4c+8)+ (7a—9—3)

= 2o+ Y4c +8 + Fa~ V=3

= Qa-Sc+S

O (6x+2y+9)+ (—3x— 5y — 8)

= loc +29+ 9 -32-59 8
— BX — 39 + |

e) (— 4x? — 2xy) + (Gx — 3xy + 2}'2]

= —4x” ’Z;cy*éx "3)‘9*29
= 2x" 5194’29

5. Simplify.
a) (m—n+2)— Bntp—7)

= M-N+2p-3A-p + 3
=m-—n+p+7

o (4a>—9) — (& +2a-9)

= L(-q?‘—q 0\3“20\"'Gj
-G 4-‘(—0\ ~2a

=
—

(3::2 - le +7) — {4.1:2 — Zyl — 8)

SR 29" +8

e)

I
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2 3 5

6. Simplify.
) G) ) G
~gx 9 =Zuedy-Txogy+

L 2 Lo
= Lx-2x +39%) :’:— -Sx +39 9
[ 3
=S x-Zx+39%39
Ie 1o 2 _
9 3 = -—-jrrl
= —x-—xt¢) ¢t
2 4 £ 12
=X T3 '
:,L-LA-";_‘9+I

8. Determine whether each pair of functions is equivalent.
a) f(x) = (2x2 +7x—2) — (3x+7) and
g(x) = (x* + 12)+(x* + 4x — 17)

= 2x1+‘~(-)(—°|
5l = xt+ I +xt £ 4x -1

= 2xt#4x =S

) f(m) = m(5 — m) — 2(2m — mz) and
g(m) = 4m*(m — 1) — 3m” + Sm

’\[("‘) = G-t — ‘f—m‘l"?mz
= m*+m
)= Ypr— ‘FMZ’BP“z*Sm

™ .

FE)= 27 49x-2 33 Tresy ove

ST eﬁy\,‘,VO\l(’/\t

= ey o=
NJoT

eﬁ/UVIVOJ?/f
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11. The two equal sides of an isosceles triangle each have a length of
oo+ 3y — 1. The perimeter of the triangle is 7x + 9y. Determine the
length of the third side.

Ecpel sides atoll 2(2x +39=1)

= 3FPside = 7xX+TH " 2<2x+39~l>

=21+qQ—‘FX"6j +2
= 3x 439 +2

12. TilIG owns a Smﬂ” C'Dmpany Ihat PrOduCCS ﬂﬂd SEHS Cﬁllphﬂﬂe cases. Thﬂ
revenue and cost functions for Tino’s company are shown below, where
x represents the selling price in dollars.

Revenue: R(x) = —50x* + 2500x
Cost: C(x) = 150x + 9500

a) Write the simplified form of the profit function, P(x) = R(x) — C(x).
b) What prﬂﬁt will the company make if it sells the cases for $12 each?

D Pl = (St p250)” (S 1455
_ - St 4 25cax — Sox — 590
= _ St 4+ 2350 — 1500
b) F() = -So(12)* +2350 (19) 7 90
=~ (%) 42820 G50
— — 220 28250~ I3
$1l,500
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